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Answer four questions in all.

Answer one question from each section.
SECTION A, SECTION B and SECTION C.
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SECTION A - SWAZILAND
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Figure 1
What is forestry? [1]
Using Figure.l1, list the two types of forests found in the area
marked A. [2]
Describe two conditions necessary for the growth of trees
in the Highveld of Swaziland. [2]
Explain two reasons why people clear forests. [4]
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(b) Peak Timbers has sawmills situated within the forest area.
0] What is a sawmill?
(i) List any two products from Peak Timbers sawmills.
(i)  Describe any three processes involved in a sawmill.

(iv)  Explain two factors that favour the location of the sawmills at
Peak Timbers.

(c) Wattle and Eucalyptus trees are grown in a large scale in Swaziland.

[1]
[2]
[3]

[4]

0] Name any one area in Swaziland where eucalyptus trees are grown

on a large scale.

(i) List two uses of eucalyptus trees.

(i)  Describe three ways by which wattle trees are used in Swaziland.

(iv)  Explain two reasons why environmentalists are against clearing

of forests.

(d) Discuss any three problems affecting the forest industry in Swaziland.
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2. (a) Figure 2 shows some industrial estates found in Swaziland.
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0] What is an industry? [1]
(i) Using Figure 2, name the two industrial estates marked IDE 1 and
IDE 2. [2]
(i)  Describe two locational factors of the largest industrial estate in
Swaziland. [2]
(iv)  Explain two problems caused by the location of many industries in
one place. [4]
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(b) Large T scale commercial farming is practiced in some parts of Swaziland.

(i)

(ii)

(iii)
(iv)

What is commercial farming? [1]
List any two physical inputs of commercial crop farming. [2]
Describe three characteristics of commercial crop farming. [3]

Explain two ways by which land is prepared for commercial crop
farming. [4]

(c) In Swaziland, there are parastatal bodies and Swazi national organizations
that promote industrial development.

(i)
(ii)

(iif)

(iv)

What is a parastatal body? [1]

Name any two Swazi national organizations that promote industrial
development. [2]

Describe three objectives of Small Enterprises Development
Company (SEDCO) . [3]

Explain two problems affecting industrial development in
Swaziland. [4]

(d) Discuss any three cultivation problems experienced in the growing of
sugar cane in Swaziland [6]
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SECTION B - AFRICA

3. (a) Figure 3 shows the map of Southern Africa.

(i)
(ii)
(i)
(iv)
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Figure 3

Name the ocean marked O1.

Using Figure.3, identify the two mountains marked Mt 1 and Mt 2.

Describe two features of the relief of South Africa.

Explain two effects on the natural environment caused by the removal

of vegetation.
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(b) South Africa has significant variations in climate.
0] What is the type of climate experienced in the Knysna region? [1]
(i) List any two features of the vegetation of the Knysna region. [2]
(i)  Describe three features of the climate of the South Western Cape. [3]

(iv)  Explain two effects of the Cold Benguela current on the climate
of the western part of South Africa [4]

(c) South Africads rivers have drainage basins

0] What is a river drainage basin? [1]
(i) Name any two dams found along the Orange River. [2]
(i)  Describe three economic uses of the rivers in South Africa [3]

(iv) Explantwor easons why most of South Africads
navigable. [4]

(d) Discuss three ways of controlling floods in most of the rivers found in
South Africa. [6]

[35]
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4. (a) Figure 4 shows the crop growing areas in South Africa.

Figure 4

0] Using Figure.4, name the main wheat growing province?
(i) List the two types of wheat grown in South Africa.
(i)  Describe two uses of wheat in South Africa.

(iv)  Explain two physical factors that promote the growth of wheat in
South Africa.
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(b) South Africa is one of the leading countries in the production of gold
in the world.

0] Name one gold mining area in the Free State province in

South Africa. [1]
(i) List two mining methods used in the extraction of gold in

South Africa. [2]
(i)  Describe three uses of gold. [3]

(iv)  Explain two benefits of the mining of gold to the economy of
South Africa. [4]

(c) There are different types of tourism practiced in South Africa.
0] What is tourism? [1]
(i) List two types of tourism which are practiced in South Africa . [2]

(i)  Describe three problems faced by the tourism industry in South
Africa. [3]

(iv)  Explain two ways by which the government of South Africa has
tried to improve tourism. [4]

(d) Discuss three factors which promote the rapid growth of industries in the

Pretoria-Witwatersrand-Vereeniging area. [6]

[35]
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5. (a) Figure 5 shows the main roads of Lesotho.
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Figure 5
0] In which part of Lesotho are most roads found? [1]
(i) Using Figure 5, name the two towns marked T1 and T2. [2]
(i)  Describe two uses of rail transport in Lesotho. [2]
(iv)  Explain two problems that hinder economic development in
Lesotho. [4]
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(b) A majority of migrant labourers in South Africa are from Lesotho.

0] What is the name of the company that is responsible for recruiting
migrant labourers to South Africa? [1]

(i) Name two main methods used to pay the migrant labourers. [2]

(i)  Describe three ways in which the migrant labour system is an
advantage to Lesotho. [3]

(iv)  Explain two problems faced by the migrant workers in South
Africa. [4]

(c) Commercial livestock farming is mainly practiced in Botswana.
0] What is commercial livestock farming? [1]

(i) Name two parts of Botswana where commercial livestock
farming is practiced. [2]

(i)  Describe three characteristics of commercial livestock farming in
Botswana. [3]

(iv)  Explain two factors that favour the location of the abattoir in
Lobatse. [4]

(d) Discuss three reasons why it has been difficult to increase food production

in Lesotho. [6]

[35]
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Figure 6 shows the vegetation belts of Africa.
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What is a vegetation belt? [1]

Using Figure 6, name the two types of vegetation found in VB1
and VB2. [2]

Describe two characteristics of the vegetation of the area

marked VB3. [2]

Explain two ways by which the vegetation of the area found in VB3
has adapted to the climatic conditions. [4]
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(b)  The Cocoa industry is very important to the economy of Ghana.

0] Name the lake that is very close to the main cocoa growing area. [1]
(i) List two coastal areas in Ghana where cocoa is sent to. [2]
(i)  Describe three stages involved in the processing of cocoa. [3]

(iv)  Explain two marketing problems faced by the Cocoa industry in
Ghana. [4]

(c) Faulting has resulted to the formation of a rift valley in East Africa.
0] What is the name of the rift valley that is found in East Africa? [1]
(i) List any two countries found in the Western branch of the rift valley. [2]
(i)  Describe how the rift valley found in East Africa was formed. [3]

(iv)  Explain any two advantages of the rift valley to the people of East
Africa. [4]

(d) Discuss three reasons why coffee production in small holdings has
decreased in East Africa. [6]

[35]
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SECTION C - REGIONS OUTSIDE AFRICA

7. INDIA

@) Figure 7 illustrates the northern part of India.

‘ HIMALAYAS
: K2
oV
e
; G,
/ : ; '90988 B
/) .
N ® T - Town
| /777 /' 1 ¢® T2%
Figure 7
0] What is the name of the shaded area A. [1]
(i) Using Figure 7, name the towns marked T1 and T2. [2]
(i)  Describe two climatic characteristics of the West coastal belt. [2]
(iv)  Explain two reasons why the West coastal belt is densely
populated. [4]
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(b)  The Interior plateau is one of the geographical regions of India.

() Name one of the towns which border the Interior plateau. [1]

(i) List two cereal crops grown in the Interior plateau. [2]

(i)  Describe three ways by which food production is increased in the
Interior plateau. [3]

(iv)  Explain two problems faced by the Interior plateau farmers. [4]

(c) Textile manufacturing is one of the leading industries in India.
0] Name the main cotton growing area in India. [1]
(i) List two climatic factors which favour the growing of cotton in
India. [2]

(i)  Describe three methods of controlling soil erosion on the steep
slopes of the Himalayas mountains. [3]

(iv)  Explain two factors that have promoted the development of the

textile industry in India. [4]
(d) Discuss three reasons why Bombay has grown at a faster rate. [6]
[35]
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8. BRAZIL

€) Figure 8 illustrates the agricultural regions of Brazil.
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0] What is the neme of the line of latitude marked L1?

(i) Using Figure 8, name the agricultural regions marked AG1 and
AG2

(i)  Describe two climatic conditions of the region marked AG3.

(iv)  Explain two reasons why agricultural region AG4 is known as the
economic heart of Brazil.
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(b) The rapid population growth of Brazil has resulted in the emergence of

slums.

0] What is the name given to the slums of Brazil? [1]
(i) List two problems faced by the people living in slum areas. [2]
(i)  Describe three characteristics of the slums found in Brazil. [3]

(iv)  Explain two efforts by the government of Brazil to
improve the standard of living in the slums. [4]

(c) Brazil is one of the countries rich in minerals.
0] In which area are the mining activities of Brazil concentrated? [1]
(i) List any two minerals found in Brazil. [2]

(i)  Describe three factors promoting the development of the mining

industry in Brazil. [3]
(iv)  Explain two problems faced by the mining industry in Brazil. [4]
(d) Discussthreer easons why Brazil s popul ation is a
growth. [6]
[35]
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9. JAPAN

€) Figure 9 shows the map of Japan and her neighbouring countries.

(i)

(ii)
(i)
(iv)
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Figure 9
What is the name of the neighbouring country marked C1? [1]
Using Figure 9, name the two winds marked W1 and W2. [2]
Describe two characteristics of typhoons in Japan. [2]

Explain two problems associated with the occurrence of typhoons
in Japan. [4]

527/02/0CT/NOV/2013



